Sundsvallsbridgen
Cityspel 2016-05-02

Partavling, 8 bord, 16 par. Antal brickor: 26. Medel: 182.0.

Plac Par Poéang % Namn MID Klubb
1 15 246 67.58 Anna-Lisa Akerdahl - Lennart Sohlin 4746 13552 AInd BK
2 3 241 66.21 Haine Haraldsson - Arne Hall 6881 7179 Bréacke BK
3 9 216 59.34 Lennart Wiklund - Birgitta Wiberg 51098 12571 Sundsvallsbridgen
4 12 213 58.52 Lennart Mikaelsson - Bo Byléhn 13150 8303 AInd BK - Sundsvallsbridgen
5 2 211 57.97 Staffan Hedman - UIf Henriksson 3734 3814  Sundsvallsbridgen - Alné BK
6 16 184 50.55 Liz Callbo - Gunnel Modig 3762 24161 Sundsvallsbridgen - Bridgeklubben BFR
7 14 181 49.73  Majlis Eriksson - Liane Svensson 3847 13553 Sundsvallsbridgen
8 10 178 48.90 Bert Hellstrom - Nils Wanglund 14470 20746 AInd BK - Sundsvallsbridgen
8 13 178 48.90 Ola Bergqyist - Leif Persson 5304 38124 Sundsvallsbridgen - Bridgeklubben BFR
10 5 175 48.08 Henry Haljeryd - Ulla Blanck 9860 10640 Sundsvallsbridgen
11 7 170 46.70 Egil Tisell - Sven-Erik Svedin 32147 90713 Sundsvallsbridgen
12 6 161 44.23  Solveig Lundstrdm - Ingemar Svensson 53917 34607 Sundsvallsbridgen
13 8 157 43.13 Olan Hedstrém - Jan Soderberg 3783 16493 Sundsvallsbridgen
14 4 152 41.76  Marianne Eskilsson - Per Eskilsson 28064 44972 Sundsvallsbridgen
15 11 151 41.48 Karin Eriksson - Sture Holm 79468 19926 Sundsvallsbridgen
16 1 98 26.92 Inger Bystrém - Bo Bystrém 18301 18302 Alnd BK
1 4 Kn652 2 4 DKn6 3 49
Nord v DKn8 Ost v7 Syd v K752
Ingen ¢ Kn1092 NS + 10732 ov ¢ Kn104
*74 #DKn1097 #EK943
41094 D87 4109874 &K 473 4 DKn105
v53 v EK1064 v K105 v E9843 vEKn64 ¢D10
+ K765 ¢+ ED4 ¢+ ED4 + Kn96 ¢ K965 ¢ D832
#EKn102 #K8 K4 #8653 &#DKn1l0 875
4« EK3 4« E532 4« EK8642
v972 v DKn62 v 983
+83 + K85 ¢ E7
#D9653 *E2 £62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 1 V3N-1 +J 50 140 00| 9 8 NIN+1 oK 120 140 00| 5 3 S2a+1 «Q 140 13.0 1.0
9 8 V2N+3 +J -210 120 2.0| 6 11 S2&= aT 90 11.0 3.0(15 13 S3a= «Q 140 13.0 1.0
13 10 V3N= +J -400 100 4.0|14 1 NIN= oK 90 11.0 3.0(14 2 S2a= «Q 110 10.0 4.0
15 12 V3N+1 +J -430 80 6.0(15 12 SIN-1 aT -100 7.0 7.0 1 11 N4bs-1 +5 -50 6.0 8.0
6 11 V3N+2 2 -460 50 90|16 5 NIN-1 +6 -100 70 70|10 9 S34-1 vA -50 6.0 8.0
16 5 V3N+2 +J -460 50 9.0|13 10 O24= v7 -110 40 100(16 6 S3N-1 *Q -50 6.0 8.0
4 2 V3N+3 ¢J -490 1.0 13.0| 7 3 O3v= SA -140 20 120 7 12 N4%-2 vQ -100 20 120
7 3 V3N+3 +J -490 1.0 13.0| 4 2 NIN-3 v4 -300 0.0 140| 8 4 S3N-4 +6 -200 0.0 14.0
4 a72 5 &« KKn9 6 49854
Vast v EK3 Nord v 10754 Ost vE73
Alla ¢+ ED2 NS + K ov ¢ KKn93
#ED865 #D10642 83
4 K3 « D10864 4 E873 4 D654 4ED63 &Kn7
vD8654 vKn7 vK963 vD2 vDKn6  vK1042
¢ K7 41043 ¢+ E865 ¢ DKn1093 +6 ¢ D87542
#Kn1074 #932 «9 #85 #ED972 #6
« EKn95 4102 « K102
v 1092 v EKn8 v 985
¢ Kn9865 742 ¢+ E10
*K #EKKN73 #KKn1054
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 3 N3N+3 a4 690 11.0 3.0|15 1 N2v+1 ¢+Q 140 140 00|15 1 O2e¢= v5 -90 140 00
8 4 N3N+3 43 690 11.0 30| 9 5 S3&+1 4A 130 120 20| 9 5 S2N-2 *2 -100 120 2.0
14 2 N3N+3 46 690 11.0 30|16 7 S2v= +Q 110 100 40| 8 13 O2v= ¢A -110 80 6.0
15 13 S3N+3 v5 690 11.0 3.0| 2 12 O34-2 A 100 8.0 6.0|11 10 O3¢= a2 -110 8.0 6.0
7 12 N3N+2 vJ 660 6.0 80| 6 4 Ole+3 *A -130 50 9.0(14 3 V2a= vA -110 80 6.0
16 6 Sbe= v4 600 40 100(14 3 O2¢+2 SA -130 50 90| 6 4 V2N= +3 -120 3.0 11.0
1 11 N3N-1 46 -100 1.0 13.0| 8 13 O14+3 *K -170 1.0 13.0|16 7 OIN+1 L} -120 3.0 11.0
10 9 N3N-1 46 -100 1.0 13.0|11 10 V24+2 *4 -170 1.0 13.0| 2 12 S34#D-3 +¢6 -500 0.0 14.0
7 4 E5 8 +E 9 4875
Syd v K863 Vast vE874 Nord v 642
Alla + K8 Ingen ¢ EKn52 ov ¢ EKn82
#DKn1032 +KD94 #Kn82
+D3 » K98 4 D63 & KKn9752 4 EKDKN1032 964
v EKn10974 v D52 vDKn95 v63 vK v Kn985
¢ EKn 4109732 ¢K983 ¢ D76 4653 + D94
#EK7 #54 #103 «82 *74 *EK5
4« Kn107642 «1084 @-
v- v K102 vED1073
+ D654 +104 + K107
£986 #EKNn765 #D10963
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 1 V4v-1 «Q 100 140 00| 7 5 N3N+2 47 460 140 0.0| 3 15 V4a-1 v2 100 13.0 1.0
10 6 V2v+2 +K -170  11.0 3.0(14 4 Nis+l 46 150 12.0 20|11 7 Via-1 v6 100 13.0 1.0
12 11 V3v+l *Q 170 110 3.0 9 1 N3e¢= v6 110 100 40| 4 1 V3e= v2 -140 100 4.0
2 15 V4v= *Q -620 50 9.0| 2 15 N4v-1 8 -50 50 90|14 5 S5v-3 s A -150 8.0 6.0
3 13 V4v= *Q -620 50 9.0 3 13 N4v-1 8 -50 50 90|10 2 V3a+1 v6 -170 4.0 10.0
7 5 Viv= oA -620 50 9.0(12 11 N6%-1 *8 -50 50 9.0(|13 12 V3ea+1 v6 -170 4.0 10.0
16 8 V4v= s A -620 50 9.0|16 8 N4v-1 a2 -50 50 90|16 9 V3a+l v6 -170 4.0 10.0
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14 4 N4#D-4 v2 -1100 0.0 140|10 6 N3a-2 +6 -100 0.0 140 8 6 Via= v6 -620 0.0 14.0
10 « 10842 11 « K964 12 # EKn3
Ost v Kn94 Syd v Kn82 Vast v 98742
Alla ¢ Kn3 Ingen + EK87 NS +83
#10853 £104 #EKn4
49 4 EKn753 «EKn1085 o- «KD97 4865
v EKD8 v 752 vKD10 v E9643 vK1053 vED
¢ K108754 ¢ D9 ¢5 ¢ D943 ¢ 74 ¢ E102
*K9 #ED7 #DKn95 *K762 *K86 #D9532
« KD6 D732 #1042
v 1063 v75 vKn6
¢ E62 ¢ Kn1062 ¢ KDKn965
#Kn642 #E83 «107
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 15 O3N+2 *4 -660 9.0 50| 9 7 O3N-1 *J 50 140 0.0|11 3 N3e= *6 110 14.0 0.0
4 1 O3N+2 *4 -660 9.0 50| 5 2 O3«+1 v7 -130 120 2.0|12 8 O3N-2 ¢+K 100 120 2.0
8 6 V3N+2 3 -660 90 50|14 6 O3v= ¢J -140 90 50|14 6 S2¢= *6 90 100 4.0
11 7 O3N+2 *2 -660 9.0 50|16 10 O3v= *J -140 9.0 50| 1 13 O3%-1 vJ 50 7.0 7.0
14 5 O3N+2 *4 -660 9.0 50| 1 13 O2v+3 *2 -200 50 90| 9 7 O3N-1 *K 50 70 7.0
16 9 O3N+2 *2 -660 90 50|12 8 O3v+2 +J -200 50 9.0 4 15 O3%= ¢+ K -110 30 11.0
10 2 O3N+3 *2 -690 10 13.0| 4 15 V5= +K -400 20 120|116 10 O2#+1 ¢+ K -110 3.0 11.0
13 12 V3N+3 3 -690 1.0 13.0|11 3 O4v= ¢J -420 00 140| 5 2 O3«+1 *K -130 0.0 14.0
13 « 1097 14 «E542 15 « EKn865
Nord v6 Ost v 842 Syd v Kn6
Alla + EK1094 Ingen ¢ Kn83 NS + D108
#8653 #1065 «D105
4E854 4KKn3 oK 4 Kn983 41097 442
vKn84 vEK1032 vKnl103 vD76 vK8 v 932
¢Kn3 752 ¢ D1094 ¢ EK7 ¢ 754 ¢ EKNn963
#D974 #Kn2 #ED732 #KKn8 #E9432 £876
« D62 «D1076 «KD3
v D975 v EK95 vED10754
+ D86 ¢ 652 ¢ K2
#EK10 94 #KKn
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 8 S2N= vJ 120 140 00|13 9 O3N-1 46 50 140 00|11 9 S4v+1 #A 650 140 0.0
12 4 N3e= 43 110 11.0 30| 2 1 O3#+1 vA -130 110 3.0| 7 4 S3N+1 «2 630 120 2.0
16 11 N3e= vK 110 11.0 3.0|16 11 V2#+2 & A -130 110 3.0| 1 10 N4e= 42 620 60 8.0
2 1 0O2v-1 A 100 7.0 70|12 4 O2N+2 vK -180 80 6.0 3 2 S4v= T 620 6.0 8.0
5 15 O2v-1 K 100 70 70| 6 3 O3N+1 *4 -430 40 100( 6 15 S4v= A 620 6.0 8.0
13 9 O2v= *K -110 3.0 11.0|10 8 V3N+1 a2 -430 4.0 10.0(13 5 N4a= &8 620 60 8.0
14 7 O2v= *A -110 3.0 11.0|14 7 V3N+1 v8 -430 40 10016 12 S4v= A 620 6.0 8.0
6 3 OIN+1 +6 -120 0.0 14.0| 5 15 O3N+2 vK -460 0.0 14014 8 N5e-1 *A -100 0.0 14.0
16 #9743 17 #1042 18 & Kn985
Vast v8 Nord v DKn632 Ost v EKn82
ov ¢ E87652 Ingen +4 NS ¢ 1093
#E10 #K432 #EK
4E108 4652 4 KDKn9 463 a4 « KD10763
v962 vKDKn1073 v 974 v K1085 vK3 v54
4943 ¢ DKn ¢ EKn87 ¢ K109653 ¢ KDKn852 ¢ E76
#7432 #K8 «D8 *Kn #Kn642 +98
« KDKn « E875 aE2
vE54 vE vD10976
¢ K10 ¢+ D2 +4
#DKn965 #E109765 #D10753
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 2 S3#+1 v2 130 10.0 4.0 2 11 S4«= K 130 13.0 10|14 9 Nb5v= «K 650 140 0.0
7 4 S3#+1 v2 130 100 4.0|12 10 S3#+1 K 130 13.0 10| 2 11 O4+-4 ¢5 200 11.0 3.0
13 5 N3e+1 vK 130 100 40|14 9 O5¢-1 *A 50 10.0 40| 8 5 N3v+2 44 200 11.0 3.0
14 8 N3e+1 vK 130 100 40| 1 6 S5#-1 ¢ A -50 70 70| 1 6 024-3 ¢4 150 6.0 8.0
16 12 N3e+1 vK 130 10.0 4.0|13 16 S5¢-1 vA -50 70 70| 7 15 O34-3 ¢4 150 60 8.0
6 15 O2v-1 «K 100 40 100 8 5 O3¢= vA -110 40 10.0(12 10 O3-3 ¢4 150 6.0 8.0
1 10 S3N-3 v2 -150 10 13.0| 4 3 O3¢+1 vA -130 10 13.0| 4 3 0O24-2 ¢4 100 1.0 13.0
11 9 S3N-3 v9 -150 1.0 13.0| 7 15 O4e= vA -130 1.0 13.0|13 16 O24-2 ¢4 100 1.0 13.0
19 « D9654 20 « D8762 21 443
Syd v 632 Vast v 862 Nord vK7642
oV 493 Alla ¢D NS ¢ DKn107
#DKn8 #KKn82 *54
«83 «E7 4Knl04 453 4Kn9 4E865
v Kn95 v K108 v53 v D94 vED10 vKn3
¢ K10542 ¢ DKn6 ¢ KKn973 ¢ E1062 +8652 ¢E9
*764 #EK532 #E96 #10743 #E987 #KDKn32
& KKn102 » EK9 « KD1072
vED74 v EKKn107 v 985
¢ E87 ¢854 ¢ K43
«109 «D5 +106
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 12 S2a+1 v9 140 140 00| 2 7 S4a+2 v5 680 120 20| 3 8 O2#+3 +K -150 120 2.0
5 4 N2a= A 110 100 4.0| 3 12 N4a+2 5 680 120 20| 4 13 OIN+2 +K -150 120 2.0
8 15 N2ea= &K 110 10,0 40| 9 6 S4e+2 v5 680 120 20|14 11 O3#+2 4K -150 120 2.0
13 11 S2e= *4 110 10.0 4.0|13 11 N4a+1 ¢A 650 80 6.0 6 5 V3N= *7 -400 7.0 7.0
2 7 O3%-1 T 100 6.0 80| 5 4 S4v= N 620 60 80| 9 15 V3N= +Q -400 70 7.0
1 16 N3e-1 *A -50 3.0 11.0| 8 15 N2a+4 *4 230 40 100( 2 16 O3N+1 4K -430 3.0 11.0
14 10 N3e-1 &K -50 3.0 11.0|14 10 N3a+2 &7 200 20 12010 7 O3N+1 +K -430 30 110
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9 6 N3aD-1 &K -100 0.0 140| 1 16 S4v-1 aT -100 0.0 140| 1 12 O3N+2 &K -460 0.0 140
22 & K3 23 « E985 24 « EK10964
Ost v 1073 Syd vE972 Vast vD9
oV ¢ KKn7 Alla ¢ Kn9g Ingen + 108
&#EDKN76 43 #1052
4E764 «DKnl0 4 D103 & Kn72 aKn732 &5
vK95 vD84 vD v KKn84 v K3 v E10762
¢+E62 #9853 ¢ ED105432 ¢ K7 + ED63 ¢ Kn975
&#K53 #1092 97 #E1086 3864 973
#9852 « K64 «D8
v EKn62 v 10653 v Kn854
+ D104 +6 ¢ K42
&84 &#KDKn52 &EKDKnN
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 16 V2a-2 v3 200 140 0.0 3 16 O3N-1 &K 100 140 00| 7 6 N4ea= vA 420 14.0 0.0
1 12 N2&+2 «Q 130 120 20|15 10 V2e= &4 90 120 20| 5 1 N3e+2 vA 200 120 20
3 8 N2#+1 «Q 110 90 50| 2 13 V3e= &4 -110 80 6.0| 2 13 N4e-1 vA -50 6.0 8.0
4 13 S2&+1 *A 110 90 50| 4 9 V3e= &3 -110 80 6.0| 3 16 S4e-1 &6 -50 6.0 8.0
9 15 N2&= 4Q 90 40 100 5 1 V3e= &4 -110 80 6.0|11 8 N4e-1 +5 -50 6.0 8.0
10 7 N2&= v4 90 40 100 7 6 V2e+2 &4 -130 3.0 11.0|14 12 S4de-1 &8 -50 6.0 8.0
14 11 N2e= &T 90 40 100|11 8 V2e¢+2 vA -130 3.0 11.0|15 10 S4e-1 &8 -50 6.0 8.0
6 5 S3v-1 s A -50 0.0 14.0|14 12 O3N= &K -600 0.0 140| 4 9 N4a-2 +5 -100 0.0 14.0
25 « K87 26 « ED8743
Nord v EK8 Ost v 864
oV ¢ 10984 Alla +73
#Kn95 63
496 4 DKn3 4 K5 4962
vKnl04 ¥D976532 vE32 v KKn7
¢ED76 - ¢ EKn962 ¢ K54
#E1032 #K74 #K54 #D1087
& E10542 & Knl0
v- vD1095
¢ KKn532 + D108
D86 &EKn92
Par Kontr Ut Res Poang Par Kontr ut Res Poang
12 9 S3a= vJ 140 13.0 10| 4 16 V3N-3 a4 300 14.0 0.0
15 11 S3a= vJ 140 13.0 10| 3 1 V3N-2 a4 200 120 20
6 2 O4v-1 s A 100 10.0 4.0(15 11 N2a= +6 110 10.0 4.0
3 1 N4e-1 v2 -50 6.0 80| 8 7 V2= &3 -90 80 6.0
5 10 S4e-1 46 -50 6.0 8.0|14 13 N3a-1 &7 -100 6.0 8.0
8 7 Sda-1 vJ -50 6.0 80| 5 10 V2N= a7 -120 4.0 10.0
4 16 O2v+1 & A -140 20 120| 6 2 V3e+2 a7 -150 1.0 13.0
14 13 S5¢D-3 vJ -500 0.0 14012 9 V2N+1 a3 -150 1.0 13.0
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